MPC 099
Review B

Simplify.
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8) 3\/36a’b

10) —2N/27xy?

12) 24/-640x7y*

14) 23/ 640m*n?
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23) 12 -212 -2 - 203
25) 22 —~l8 - 2316 -8
27) N6(5\2 + 3)

29) \6b(n/2b + 4)

31) (-3v/3 -A2)(W3 +/3v)
33) (~4 +i)(8 + 6i)

35) (1 +1i)(4 + 8i)
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41) N9

43) N/a?b® -A/ab

22) _1%/-—

24) 248 -2 ~24/8 — 2316
26) /8 + 2412 + 248 — /8
28) \2(2N2 +3n)

30) (-3 +5)(3 ++/5x)

32) (V2 +3)Wax - 1)

34) (7-7i)(-2-1)

36) (-8 +2i)(~6 - 6i)

10 - 3i
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Answers to Review B

m 1 [ 903
m 1 y
n* 4x° 3
65 45 43 7) 15\5uv 8) 18av/b
5) X24 y 8 6) m 3 2
9) 12xyv/5 10) 6}5[ X 11) —10a%/2a%b’ 12) —4x3/5y*
13) 12xy/3y> 14) 43/5m*n? /4 3\/3 12
15) -~ 16) -~
17) /4 2\/_ 6-8\2 —6+9\/_
18) 22 19) 2 °N2
23 23
\/5 5 +\/5 23) —10\3 -2 28y 2+ 42
21) 2 22) =
25) 2\/_ w2 -2 26) -2\2 + 43 27) 1073 +3W6
28) 4 +3m/2 20) 2b7/3 + 4/6b 30) -9 — 3/5x + 335 + 5x
31) -9 — v —\6 —6v 32) 2\/_ N2 +3W2x -3 33) —38 - 16i
34) 21 +7i 35) —4 + 12i 36) 60+36i 3y ZLE 17
58
11 - 36i —3-2i —20 + 30i \
38) i 39) i 40) % 41) \/g
42) ,,/3X2y3 43) 20/ 18b17 44) 2Xy2 6[2X5 -y 45) 15 a7b11
b
46) 1+|\/§ 47) 7+2|\/5
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